— PHEI-545 <44 5>

B HZ—ICE T3 EREER L EL

MAT25 e - 4d%Y
MAT32 — N2 (FEER) Fl“
MAT40 N L
MAT50 2.¢d ‘5] g :
MAT63 i :/d (AN | ale
=7k @ . N
¢H (PsFiz) © " @ —1
I = 4Cm [_"ee
® szvs)s G ARfThRl) V\v/; 4-Di%Y
A
J o1 8 AT
) 19 | /FRIHLE (RERER
- ‘ 4 NeRUA> %420 Py i
s =) (RFA5-BRAN L—e ‘ &)
sty h 7 ] - N~ | |
#osseas (0] | (@) JAR N YRPY [
e TR N AN -
(5SCSPDJ) i
3
SP2
T 1 = W
TE-A(BEER)
@ tyhHS—FMEDHBLTHIET,
— PHI-545<35185%>
HEROBIEEBEBE T REDLIIETIEVWLE T F- 2 MbBRELEL .,
FES HER ¢ [calCdlcmlc ZFAF— & RERBIT | A=A & CRiRe) OE2 | o
Type | No. P [ Lot | 1 o3 P alblc e [SB[SP1[SP2[SW[ t [t+ [t2 [d | f [w|B [Bi1|Di]t W1
NNS 1(zso~25)o
NBS |30 =30
MAT25 CNS |50 120 160~250 32517 |M5| 5 | 28 | 40 | 15 60 | 50 | 70 (130|160 | 46 | 25 | 12 | 55| 32 | 20 | 60 | 50 | 6.6 | 12 [ 184 | 172| 35
cBS (s=50)
120 40|15 60 70 [130[160] 46 | 25 | 12 60 | 50 184] 172
MAT25 150 325\ 17 |ms | 5 | 28 [60 | T T80 | 50 [100]170200] 52 |27 [15] 66 | 35 | 25 | [ 7 66| 12 [240]220] 40
200 120~300 80 100 140226256 | 60 | 32 | 17 288 | 270
NN 150 | 120~ 60 80 100]170{200] 52 [ 27 | 15 240 | 220
MAT32 2,‘3 % 2 1(aso::saao)o 33| 27 |Ret/8| 5 | 34 g1 10| 20 ot 68 [aotoosToes 0 Tgo 2] © | 46| 35| 75 | 60| 9 | 12 oot 45
cB 150 | '(s—s50) 60 80 100170200 | 52 | 27 | 15 240 | 220
MAT40 2 305| 27 |Re1/8| 6 | 40 [t 10| 20 [0t 68 [quom bt oo T Tip ] O | 45| 35| 75 | 60 | 9 | 12 [Seio 45
MATS50 20 40.5| 32 [Ret/4| 8 | 50 | 80 | 10 | 20 |100| 72 | 140|226 256 | 60 | 32 | 17 | 9 | 45 | 35 |100| 80 | 11 | 15 | 288|270 | 45
MAT63 200 46 0 [ 20 [100] 72 [140] 226256 | 60 | 32 | 17 | 9 | 45| 35 [100] 80 | 11 | 15 | 288]270] 45
@GEN) . HEVCATER, S 28 L
CN(CNS) . CB(CBS) it RIcBHET o




